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Find f 4+ g, f — g, f - g for the functions below. State their domain.

\/ a) f(z) = 2° + 6z and g(x) =3z — 5
\/b) f(z)=2°+5 and g(z) =522+ 7
/¢ f(x) =3z +7y/z and g(z) = 22* + 5/
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Find =g£, and % for the functions below. State their domain.

\/a) flx)=3x+6 and g(z) = 2x — 8
W) fz)=z+2 and g(z) = 22 — 5z + 4
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Let f(z) = 22 —3 and g(x) = 32*+4x. Find the following compositions:

\Va) f9(2)  Wb)g(f(2) W) F(f(5))
\Vd) f(59(=3)) e g(f2)—2) ) F(fB3)+9(3))
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Find the composition (f o g)(x) for the following functions:

\/a 3L 5 and g(x) =2+ 3
\/b) f )=z +2 and g(z) =z + 3
],C)f()—L2—3L+2 and g(z) =2x + 1
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Find the compositions

(fog)(x), (gof)(z), (fof)lx), (g9og)(z)

for the following functions:

Va) f@) =2z 44 and g(z) =x—5
L) = and g(x) = 2 — 9
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